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8X 2= (2% 2x 2)X = (2x1) = 2(4x = 1)

5% * =10X = X (5% —10) =X (5% 1X =5% 2) = 5x (X - 2)

DXy —AXy “4+8xy =Xy (2X =4y +8) =Xy (2x1X =2x 2y +2x2x2)=2Xy (X =2y +4)
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x -y =(x-y)(x+y)

()" = (M) = (g1 - U (g1 + )



1=
9=3°
25 =5
49 = 7°
81 =9°

X?—9=x°—-3°=(x—-3)(x + 3)

4 =27

16 = 4°
36 = 6°
64 = 82
100 = 10°

25x° -9y ? =5°x°—-3°y * =(5x — 3y )(5x + 3y )
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-y’ =(x —jf)(.r%r:f}f +jr'1) rCmrSa G (3813 Bacld

x4y’ =(x+y )(:f1 —xy +_1:2) 1Ominsa £ gada 14 B

(Js¥)'£(SW) = (S £ SWN (U 5 (Je¥N) (S + (SWh°] radaa e

11" g 0° 97 = 37 64 = 4° 125 =53

X*-125=x"-5" = (X =5)(X° +5X + 25)

16%%y ° =5ax°%y 2= 2'x %y ° — 2x 3’y ?
=2y 2y 7 =3x") = 2x"y *(2y -3y )(4y * +6xy +9y )



:(4) JHia
8X3+27y3=23X3+33y3=(2X+3y)(4X2_6Xy +9y 2) .(4) d

3x° +24y ° =(3x° +3x2°y °) =3(x° + 2°y °)
=3(X +2y )(x*—2xy +4y °)
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(x +y) =x"+2xy +y° 1Jalsl) sl 15 Sacld

(Ja¥1+ Su)? = (Ja¥N)? +2 (Ja¥) (SW)+( S’

"

(x —y) =x"=2xy +°

(Jg¥! - SWr)” =(Us¥N)’ - 2(Js¥) (SWN+(SW)’



(2a-3b) =2%a?-2(2)(3)ab + 3 ? = 4a® —12ab + %’

(x+ﬁy)2=x2+2\/§xy +(\/§)2y2=x2+2\/§xy + 2y °



